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QUESTION 1

A disk displays an X symbol in a red circle. What does this indicate? 

A. There is a potential problem and it should be fixed immediately. 

B. The disk is inaccessible, but the data is healthy. 

C. There is a disk failure and it should be fixed immediately. 

D. The disk is disconnected, but the data is healthy. 

Correct Answer: C 

 

QUESTION 2

A concatenated volume named Vol1 is on a disk that shows the status as failing. To prevent any downtime, the volume
must be moved to a healthy disk. How can Vol1 be moved to another disk? 

A. select the volume and evacuate it to another disk 

B. replicate the volume to another disk in the disk group 

C. select the volume and drag and drop it to another disk in the disk group 

D. select the volume and perform subdisk move to another volume 

Correct Answer: C 

 

QUESTION 3

Which feature is available when Veritas Cluster Server (VCS) is configured in secure mode? 

A. SSL to encrypt communication between cluster nodes 

B. a single sign-on mechanism to connect to a cluster 

C. an isolated and secure environment for running applications 

D. root broker configured in a stand-alone system outside cluster 

Correct Answer: B 

 

QUESTION 4

How does Veritas Storage Foundation for Windows benefit multi-vendor storage environments? 

A. It dynamically provisions LUNs from dissimilar storage arrays. 
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B. It provides hardware-based snapshots across dissimilar arrays. 

C. It reduces complexity and utilization across dissimilar arrays. 

D. It allows online migration of data across dissimilar storage. 

Correct Answer: D 

 

QUESTION 5

Which process enables the renaming of an imported dynamic disk group named DGName in Veritas Enterprise
Administrator? 

A. right-click on disk group object DGName, select rename Dynamic Disk Group, enter new name 

B. select disk group object DGName, press F2, enter new name 

C. right-click on disk object DGName, select Deport Dynamic Disk Group, enter new name 

D. select disk group object DGName, select Import Dynamic Disk Group, enter new name 

Correct Answer: A 
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